Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
1	Morrison, Paige	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	138	\$16.00	\$2,208.00	\$22.08	\$66.24	\$88.32
3	Morrison, William	Logan Health Medical Center	Glacier Processing Coop	Glacier Processing Coop	128	\$14.00	\$1,792.00	\$17.92	\$53.76	\$71.68
5	Evert, Sandra	Mike Fraser Consulting	Lower Valley Meats	Lower Valley Meats	125	\$16.00	\$2,000.00	\$20.00	\$60.00	\$80.00
6	Pickering, Brylee	The Ranchers Daughter	Glacier Processing Coop	Glacier Processing Coop	144	\$13.00	\$1,872.00	\$18.72	\$56.16	\$74.88
7	Young, Judith	Kalispell Public Schools	Lower Valley Meats	Lower Valley Meats	130	\$14.50	\$1,885.00	\$18.85	\$56.55	\$75.40
9	Fisher, Haley	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	144	\$15.00	\$2,160.00	\$21.60	\$64.80	\$86.40
10	Young, Samantha	Kalispell Public Schools	Lower Valley Meats	Lower Valley Meats	129	\$20.00	\$2,580.00	\$25.80	\$77.40	\$103.20
12	McConkey, Kayla	Flathead Electric Cooperative	Glacier Processing Coop	Glacier Processing Coop	132	\$17.00	\$2,244.00	\$22.44	\$67.32	\$89.76
13	Taylor, Nicholas	Whitefish Credit Union	Glacier Processing Coop	Glacier Processing Coop	133	\$18.00	\$2,394.00	\$23.94	\$71.82	\$95.76
14	Rankosky, Cazzland	NorthStar Dental	Lower Valley Meats	Lower Valley Meats	139	\$15.00	\$2,085.00	\$20.85	\$62.55	\$83.40
15	Hendrickson, Courtney	Columbia Falls Ace Hardware	Lower Valley Meats	Lower Valley Meats	145	\$17.00	\$2,465.00	\$24.65	\$73.95	\$98.60
16	Sargent, Laila	Les Schwab Tire Columbia Falls	Glacier Processing Coop	Glacier Processing Coop	131	\$21.00	\$2,751.00	\$27.51	\$82.53	\$110.04

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
18	Harmon, Morgan	Wilkinson Construction	Glacier Processing Coop	Glacier Processing Coop	124	\$20.00	\$2,480.00	\$24.80	\$74.40	\$99.20
19	Fritz, Miley	NorthStar Dental	Lower Valley Meats	Lower Valley Meats	148	\$20.00	\$2,960.00	\$29.60	\$88.80	\$118.40
31	Mclean, Jubilee	Columbia Falls Murdoch's	Resale	Resale	143	\$14.00	\$2,002.00	\$20.02	\$60.06	\$80.08
32	Mclean, Jayne	Western Building Center	Resale	Resale	129	\$13.50	\$1,741.50	\$17.42	\$52.25	\$69.66
33	Middlemist, Ayden	Seth Price - Mountain West Farm Bureau	Lower Valley Meats	Lower Valley Meats	156	\$14.50	\$2,262.00	\$22.62	\$67.86	\$90.48
34	Middlemist, Halsey	Erik and Brianne Peltz	Lower Valley Meats	Lower Valley Meats	146	\$18.00	\$2,628.00	\$26.28	\$78.84	\$105.12
35	Middlemist, Ryder	CHS Mountain West	Lower Valley Meats	Lower Valley Meats	151	\$14.00	\$2,114.00	\$21.14	\$63.42	\$84.56
39	Mcguire, Tatum	Whitefish Credit Union	Glacier Processing Coop	Glacier Processing Coop	147	\$13.00	\$1,911.00	\$19.11	\$57.33	\$76.44
41	Mcguire, Harper	Glacier Bank	Lower Valley Meats	Lower Valley Meats	132	\$15.00	\$1,980.00	\$19.80	\$59.40	\$79.20
42	Sutton, Nolan	Northwest Parts & Equipment	Glacier Processing Coop	Glacier Processing Coop	148	\$13.00	\$1,924.00	\$19.24	\$57.72	\$76.96
43	Rudiger, Brantley	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	148	\$13.00	\$1,924.00	\$19.24	\$57.72	\$76.96
45	Rudiger, Bodie	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	115	\$15.00	\$1,725.00	\$17.25	\$51.75	\$69.00
47	Knodel, Kashlynn	City Service Valcon	Resale	Resale	141	\$17.00	\$2,397.00	\$23.97	\$71.91	\$95.88

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
49	Fant, Wyatt	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	128	\$15.00	\$1,920.00	\$19.20	\$57.60	\$76.80
51	Reid, Sophia	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	119	\$18.00	\$2,142.00	\$21.42	\$64.26	\$85.68
52	Boucher, Leo	LaSalle Equine Clinic	Lower Valley Meats	Lower Valley Meats	134	\$11.00	\$1,474.00	\$14.74	\$44.22	\$58.96
53	Brist, Naomi	Jance's Body Shop	Lower Valley Meats	Lower Valley Meats	123	\$14.00	\$1,722.00	\$17.22	\$51.66	\$68.88
57	Lindsted, Ronin	Brad Abell	Lower Valley Meats	Lower Valley Meats	153	\$10.00	\$1,530.00	\$15.30	\$45.90	\$61.20
60	Bean, McKinley	Glacier Bank	Glacier Processing Coop	Glacier Processing Coop	153	\$14.00	\$2,142.00	\$21.42	\$64.26	\$85.68
62	Owens, Mary	Accurate Weed Control	Lower Valley Meats	Lower Valley Meats	149	\$20.00	\$2,980.00	\$29.80	\$89.40	\$119.20
63	Kallenberger, Riley	Kalispell Murdoch's	Resale	Resale	141	\$13.00	\$1,833.00	\$18.33	\$54.99	\$73.32
65	Kallenberger, Arena	Siderius Construction	Glacier Processing Coop	Glacier Processing Coop	137	\$15.00	\$2,055.00	\$20.55	\$61.65	\$82.20
67	Olson, Evalyn	Farm to Market Pork	Farm to Market Pork	Farm to Market Pork	152	\$10.00	\$1,520.00	\$15.20	\$45.60	\$60.80
69	Louden, Diedrich	Glacier Processing	Glacier Processing Coop	Glacier Processing Coop	129	\$12.50	\$1,612.50	\$16.13	\$48.38	\$64.50
73	Davis, Kristofer	Malcolm Drilling Co Inc	Glacier Processing Coop	Glacier Processing Coop	143	\$16.00	\$2,288.00	\$22.88	\$68.64	\$91.52

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
74	Gearardo, Dylan	Angie's Greenhouse	Lower Valley Meats	Lower Valley Meats	117	\$15.50	\$1,813.50	\$18.14	\$54.41	\$72.54
81	Cummins, Camden	Kalispell Volkswagon	Glacier Processing Coop	Glacier Processing Coop	121	\$16.00	\$1,936.00	\$19.36	\$58.08	\$77.44

Avg: \$15.29 Min: \$10.00 Max: \$21.00

Total: \$81,452.50 \$814.54 \$2,443.59 \$3,258.10